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2) How many solutions would the following linear system have? One solution, no solutions, or infinitely

many solutions? Explain.
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3) Solve the following linear systems using elimination:
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4) Solve the following linear systems using substitution:
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5) Two axe-throwing clubs offer the following yearly membership options:

Club A: $200 membership fee, and $12.50 for each time you visit Q = 200 112 S« @
Club B: $50 membership fee, and $25.00 for each time you visit C =303 25~ Q)

How many times would you have to visit in a year for each club membership to cost the same?
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